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II, (2014-2015) 
SUMMATIVE ASSESSMENT – II 

MATHEMATICS /  

Class – IX / IX 
3                   90 

Time allowed : 3 hours              Maximum Marks : 90 

(i) 

(ii) 31 4 

1 6 2 8 

3 10 4      

3-3   2  4   1  

(iii) 

(iv) 

General Instructions : 

(i) All questions are compulsory. 
(ii) The question paper consists of 31 questions divided into five sections A, B, C ,D and E. 

Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6 questions 
of 2 marks each, Section-C comprises of 8 questions of 3 marks each and Section-D 
comprises of 10 questions of 4 marks each. Section E comprises of two questions of 3 
marks each and 1 question of 4 marks from Open Text theme. 

(iii) There is no overall choice.  
(iv) Use of calculator is not permitted. 

/ SECTION-A 

1 4 1 

Question numbers 1 to 4 carry one mark each. 

1 x a 1 
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The graph of x = a is parallel to which axis ? 

2 2 10,x ky  y- k 

If the graph of  2 10,x ky intersests y-axis at (0, 2), then find k. 

1 

3 O AOC140 x 

In the figure, if O is the centre of the circle and AOC140, find x. 

1 

4 150 3 

2

3

A cylinderical jar of volume 150 cm3 is full of water.  A solid cone is put in the cylindrical jar and some 

water is drained out.  Find the volume of the cone if 
2

3
rd of the water still remains in the jar. 

1 

/ SECTION-B 

5 10 2 
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Question numbers 5 to 10 carry two marks each.  

5 MNOP OP U 

ar (MUN)ar (PUM)ar (UNO) 

MNOP is a parallelogram. U is any point on side OP. Show that ar(MUN) ar (PUM)ar 

(UNO) 

2 

6 XYZ105 

Using ruler and compass, construct XYZ105. 

2 

7 PQRS x y 

In the figure, PQRS is a parallelogram. Find the values of x and y. 

2 

8 6 cm 2 
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Two cubes of edge 6 cm are joined to form a cuboid.  Find the total surface area of the cuboid. 

9 200 

0 1 2 3 

35 45 42 78 

(i) 2 

(ii) 

Three coins are tossed simultaneously 200 times with the following frequencies of different 
outcomes. 

Number of tails 0 1 2 3 

Frequency 35 45 42 78 

Compute the probability of getting the : 
(i) At least 2 head 
(ii) All heads 

2 

10 2 1500

0 1 2

211 814 475

(i) 

(ii) 

1500 families with 2 children were selected randomly and the following data were recorded : 

Number of girls in a family 0 1 2 

Number of families 211 814 475 

If a family is chosen at random, compute the probability that it has : 

(i) Exactly 1 girl 

(ii) No girl 

2 

/ SECTION-C 
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11 18 3 

Question numbers 11 to 18 carry three marks each.  

11 7 5 35x y 

Find three solutions of linear equation 7 5 35x y  in two variables. 

3 

12 ABCD

ABCD is rectangle. Find coordinates of its vertices. Also write the equation of its sides. 

3 

www.tiwariacademy.com 

JS
UNIL

 T
UTO

RIA
L



Page 6 of 13 

13 P Q ABCD AC ar 

(PDQ)ar (PBQ)

In the given figure, P and Q are any two points on the diagonals AC of the parallelogram 

ABCD. Show that ar (PDQ)ar (PBQ). 

3 

14 3 
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If two chords of a circle with a common end-point are inclined equally to the diameter 

through this common end point, prove that the chords are equal. 

15 60

Draw an angle of 60using protractor. Bisect it and give justification. 

3 

16 PQRS RS X R PX 

PQ Y SP Z PS PZ RYYZ

In the figure, X is the mid-point of the side RS of a parallelogram PQRS.  A line through R 

parallel to PX intersects PQ at Y and SP produced at Z.  Show that PS PZ and RYYZ. 

3 

17 PQ RS K 

Draw lines PQ and RS intersecting at point K. Measure a pair of vertically opposite angles. Bisect them. 

3 
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Are the bisecting rays forming a straight line ? 

18 154 

3.5 cm 1 cm3 1 g 

A cylindrical vessel can hold 154 g of water.  If the radius of its base is  

3.5 cm, and 1 cm3 of water weighs 1g find the depth of water. 

3 

/ SECTION-D 

19 28 4 

Question numbers 19 to 28 carry four marks each.   

19 ` x ` y 10 

15 ` 45 

Cost of typing an English page is ` x and that for typing Hindi page is ` y.  If total bill for 

typing 10 English and 15 Hindi pages is ` 45, then write a linear equation which satisfies this 

data.   Also draw the graph for the equation. 

4 

20 

Write the equations of the lines drawn in the following graph.  Also, find the area enclosed 

4 
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between them. 

21 XYZ ‘a’ XYZ O XO, YO 

ZO A, B C ar(XYZ) ar(ABC)    

XYZ is an equilateral triangle of side ‘a’ units. O is a point inside XYZ such that points A, B 

and C are mid-points of XO, YO and ZO respectively.  Find ratio of ar(XYZ) and ar(ABC).   

4 

22 r cm O OP OQ AB CD 

PQ1 cm ABCD, AB6 cm CD8 cm r 

4 
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In the given figure, O is the centre of a circle of radius r cm, OP and OQ are perpendiculars to 

AB and CD respectively and PQ1cm.   If ABCD, AB6 cm and CD8 cm, determine r.  

23 MNO 16 cm, N45 O60

Construct MNO in which perimeter is 16 cm, N45 and O60. 

4 

24 lm p 

lm and they are intersected by a transversal p.  Show that the quadrilateral formed by the 

bisectors of the interior angles so formed is a rectangle. 

4 

25 35 cm 

132 cm 

A conical heap is formed when a farmer pours food grains on a ground. The slant height of 

heap is 35 cm. The circumference of the base is 132 cm. What amount of tarpaulin is needed to 

cover the grains ? Farmer goes to the orphanage and gives half of the food grains for the 

children living there. How much grains farmer donoted ? List values you learn from this act 

of the farmer.   

4 
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26 36.50 1 kg 16 m2 8 m 

The cost of the paint is `. 36.50 per kg. If 1 kg of paint covers 16 square m, how much will it 

cost to paint outside of a cube whose each side, is of 8 m. Also give ratio of its total surface 

area and lateral surface area. 

4 

27 14 cm 

A semicircular sheet of metal of radius 14 cm is bent to form an open conical cup.  Find the 

capacity of the cup. 

4 

28 

20 - 29 30 - 39 40 - 49 50 - 59 60 

38 27 86 46 3 

(i) 40 

(ii) 40 

(iii) 40 - 49 

(iv) 60 39 

A recent survey found that the ages fo workers in a factory is distributed as follows : 

Ages 20 - 29 30 - 39 40 - 49 50 - 59 60 and above 

No. of Workers 38 27 86 46 3 

If a person is selected at random, find the probability that the age of person is : 
(i) 40 years or more 
(ii) under 40 years
(iii) 40 - 49 years
(iv) under 60 but over 39 years 

4 

य/SECTION-E 
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(   /Open Text) 

(* Please ensure that open text of the given theme is supplied with this   question paper.) 

Theme : Atithidevo Bhavah 

29 (i) 2012

(ii) (ranks) 

(i) Which are the four most visited cities by foreign tourists in India during the year 2012 
? 

(ii) State the ranks of these cities as per the survey. 

3 

30 2000-2011 

For graphical representation of FTA during the years 2000-2011, which is more suited – bar 
graph or histogram ? Why ? 

3 

31 

(a) 

(b)

4 
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(a) In the year 2000-2011, arrival of foreign tourists and foreign exchange earnings are 
given in text. 

Prepare a bar diagram on the basis of following percentage difference table showing 
foreign exchange earned (in crore) from 2000-2004 as compared to previous year.  

Year
Percentage difference as compared last year

(b) What is the percentage of male foreign tourists arrivals in India in 2012 and why is it 
more than that of females ? 

-o0o0o0o- 
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